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INSTRUCTIONS TO THE CANDIDATE (esa")gtﬁ Arisden)
(Read the Following instructions caref ully bcfm': Answering)
(morenen JrBod S0l BMHS SrSSess S H0800ENTR)

gcpiﬂ?tc Opgcal Mark Reader (OMR) An§wcr Sheet is supplied to the candidate along with Question Paper
ooklet. Please read and follow the instructions on the OMR Answer Sheet for marking the corect response.
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Th_c Candidate should ensurc that the Hall Ticket Number and—.Name of the Candidate are properly
printed on the OMR Answer Sheet provided to you. The Candidates are further instructed to ensure
that the booklet code printed on OMR Answer Sheet is same-as the Question Paper Booklet

code supplied to you. :

€50 £0wb 2Treodi@od Sironodd PiTos® HFEBRE Sowb K00 D BOm Lol vondy B
©Q JOUTDEIBD. el 3% adS Ldowb 2w Ho HE S wESY &, 2D PT)DEC
D& S0BoDS wESE FE afl wonds S& H0SrnrIse.

3. This booklet contains 100 Questions and candidates shall answer all these in 180 minutes.
& B0 eEBES" 100 BHed ST $0805n @igiien HbAos 180 dDToS” 2areed FBoSSBD.
4. One mark will be awarded for every correct answer, There are no negative marks.
8BS (68 2T w08 wf Srdy, Tronesto EHHH0B. JnSed Sl Sty B
5. Immediately on opening the Question Paper Booklet by tearing off the paper seal, please check
for (i) The same booklet code (A/B/C/D) on cach page, (i) Serial Number of the questions
(1-100), (iii) The number of pages and (iv) Correct Printing. In case of any defect, please report to
the invigilator and ask for replacement of booklet with same code within five minutes from the
commencement of the test.
wEF0 PTDEo w5BE LEH DEADS IosT eiier Sumgom (i) 8%0% FerowodS wESE F&
/21916 38 DED &8 B 50800:mE5TH, (i) 1 S0s 100 385 dHes S6D F&od &3)D
B0 H6800SE 5T, (i) BB Somg S0 (iv) $BH SWEE. I HEYY) Dicires’ B Sdyes FHI
Sthe wighos B3 BEgIELHD GRE BB HOE @BoDS 5 DTS PSR SrEF'SBD.
6. Answers to the questions must be entered only on OMR Answer Sheet by completely shading the appropriate
circle with Ball Point Pen (Blue or Black) only.
Heo BF S0l wdTranots D) E Ldoesb 2TredigoR TR KO8 S S8NSR 2w JBoSSBR0.
7. The OMR Answer Sheet will be invalidated if the circle is shaded using Pencil or if more than one circle is
shaded against cach question even with a small dot.
L0056 Bare B0 SHFos' DYSEE’ LB B w8 S)FSns’ §am) M S Hzmes® DY) ) DET
G [ e AT Soorego8T I8 H0Ke305e8:).
8.. Change of answer is NOT Allowed.
zaraosy o8 éb“%géwes‘;ﬁa Soroytao ©fBBoTLE.
% The Candidates must fully satisfy 1hc1n§clvcs about the accuracy of }hc answer before darkening the
appropriate circle of (1), (2), (3) or (4) in the OMR Answer Sheet with Blue/Black Ball Point Pen, as
it is not possible to change or crasc once darkened. _
2 ED Boowsb zarend@on 000 20l BEddo S85M T8 &pégcgw Legor 85 Do 2
Heo BT S0 erSaronots Y (1),(2), (3) B (4) HTos* 28 5T IRNK FOoDSBP.
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» Use of Eraser or White Fluid on the OMR Answer Sheet is not permitted as the OMR Answer Sheet
is machinc gradable and it may lead to wrong cvaluation,
Sarer§oflo dhoo BFEom Boknb Sod Lo mares S0 D Lowd mA, S MY
THLE 8558 Bb. SEEE
9. The OMR Answer Sheet will not be valued if the candidate:
SDI LJoss zarm JPop & BIHS _‘sn36‘b$5u1§) TS Db aTwodPo Sarergodo Do
(a) Writes the Hall Ticket Number on any part of the OMR Answer Sheet except in the space provided
for the purpose,
£dowss a2 JFoR Jrdodd PBF0S® 5 HSEIE Foubi Fo HEFosS® 2§ 8 (TRSBIL,
(b) Writes any irrelevant matter including religious symbols, words, prayers or any communication what
so ever in any part of the OMR Answer Sheet,
L0esb 2T JEo R SoBEDHERD 2325303, AT, HdYeo, @vg;’)m 558 288 ©R0BFIN S Trdo
LSJ“JJFSEEG:'&J, '
(c) Adopis any other malpractice.
denB08 BRSNS TS,
10. Electronic gadgets like Cell Phone, Pager, Calculator, Electronic watehes and Mathematical/Log Tables
are not permitted into the examination hall. :
H68 Tre0s’8 Aol JoKE HBETBS oI DEFT, wub, 50586, &)eJLs;:OE T, Ke3d/erh
20500 080 WEY).
11. Rough work should be done only in the space provided in the Question Paper Booklet.
BTPS@o 20EBES* oo DB SrED 6956, BEIBH. '
12. Once the candidate enters the Examination Hall, he/she shall not be permitted to leave the Hall till the end
of the examination. ' |
020 2830 Hbg Frend's ©320DS Bord BT B0 BNAD SEK 2aHLE HoHRED.
13. Ensure that the Invigilator puts his/her signature in'the space provided on Question Paper Booklet and the
OMR Answer Sheet. Candidate shouldsign in the space provided on the OMR Answer Sheet.
o350 &8 PTYHE0 wEBE P Ser000DI BB%0s* H855E5 Gg), Hodo EREIIBH. werd Ldowsd
2TWIGoR ©gH Beronodd PBF0SH 85 HodEo BoHSBR.

o

14. The candidate should write the Question Paper Booklet code and its serial number and sign in the space
provided in the Nominal Rells. , '

THES 5E) Y0NS (HBFS wY BTHEo 2058 '8 5065 T S Sopgly SHYNV0T
(TP o05B0 58050 VYIRS BB HodLo BohdBRo. -

15. Return the OMR Answer Sheet to the invigilator before leaving the Examination Hall. Failure to retun the OMR
Answer Sheet is liable for criminal action and the result will be kept withheld. The Question Paper Booklet shall
be taken away by the candidate and should be preserved till the declaration of results.

HB5 FPe00D 20He% IPSYD LJowb 2TWIEV) HEIEBRE wo8BHEBK. Ldoess 2arend@o
@SBRI Wil §65 Sdgen BNESdo wdhHhé0d 300050 wdd ddeoh awéﬁodaiﬁ“ﬁ)
(082). ©5h & BTDES > 808 Bt HOer o Jvdod S6% HTIEC

20EBED &0 5¢ =g

NOTE: If any ambiguit
version shall be tr
viz. English / Telugu
W (B v
Q0S80 B3I
This booklet cons

= @E‘\:‘Jk
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NN

the text/matter stated in English
let is printed in two languages

Qoo HdSam oS SBR.
0h D/ &8x) SoBoszaIs.
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and Pages of Rough Work.
32 Hden 500 &X)0.
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Time =3 Hours

Instructions :

Booklet Code @

Marks : 100

(i) ?"g m¢as\i'k will be awarded for every correct answer. There are no negative marks-
" S8 08 BT Wl Sty Tronotto ahikHEos. dnsod GrdE Irdy 2.
(if) Choose the correct or most appropriate answer from the given options to the following

questlfms an(i? darken, v.uith Blue/Black Ball Point Pen the corresponding digit (1), 2),(3)
or (4) in the circle pertaining to the question number concerned in the OMR Answer Sheet,

separately provided to you.

BHH NI P8 PHF 280088 TBS* HBS J>
wos (1), (2), B) B (4) Icom aN)S OMR S&re

TS0t AT T HerdoD
5 HES0S* HH 502208500

dopgie HTY) dwo B $e0d S FowotS DY) GHFTAOY DHZBD.

1. Ifa+b=landa®+b*=2 thend®+b°=
a+b=130805 02'+b2=2@wé, @éjé: a5+b5___

5 A 19 17 5
R ® 7. 04 ) 2
2. For any non-zero value of x,
1 " 1 N 1 )
'1+x2+x‘_1 14+ x% +x72 1+x"2-+x"4
x&oaéz,lb 3588 DOIBT,
1' N N
+ . =>r e e
i-ll-xz-l-x‘4 _1+x2'-+x"2 [+x 245
(1) 0 @ 1 @) 1+x2+x*  (4) ¥
VIR [2 13 ' | :
2. N % +3 =x, - ;3 =y and z=./x+y,then 4(z%+3) = .
N 7
4(z2+3)=
(4) 108

(¥ Scanned with OKEN Scanner
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-2 -2 !

31255 (2435 34 ;0 2 \2
LSRN
X X ]5)2( ), en| - =

25

2 -2 ! o
31255 (243)5 _ 34 .3 ) 3 i O
( - ] +[ o J (15) (64)‘ 003, Wiy {x13 ] = Q
My 25 @ 37 G = (4)

5. When a positive integer & is added to 3096, if the resulting N ivisible by 39, then
the least value of that & is Q

3096 & 2.8 GSyrozogo kQ 008 56& 29F Sopg 39%«3&)&3 ©IPE & L&mg&
593 dws )

(1) 15 (2) 18 (4) 24 |

6. Ifrisarational number whdse denom' : eds its numerator by 3K and if 5 is subtracted
- from bc;th the numerator and th &ator it becomes i then r=
w8 0E880%H Ropg @ o 0330 08 3 Déobaﬁn' G080 B & dopg
Q08 oééw\ﬁ&'aoéﬁ Sod 5 &I b — u.’g)éooa @ajcsa r=

. 11
(2) @) L @ —

I\ N 1- _
T f@o.MZSSLthen 0.00007

(1) 14, (2) 142857 (3 42857 (4 142857

(TS

i¢
=

el
(¥ Scanned with OKEN Scanner
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1f r is the rational number which is the reciprocal of the sum of the reciprocals of th
¢

8.
4 .2 . :
numbers ¢ and 3 then the digit in the fourth decimal place I the decimal form of s
e ¥SBaD B’Jomg F 38, dowgen i $380%0 §- o He& e o A
)  Pomgeo < g © % do G0Y, Jg&,Soond
ey T GwY, d7T0d ErHoe® TPed dwoa‘@;éom &od 08 . ,[_
w3 RO (3) 0 (4) 38
9. Ifthe natural numbers a, b, ¢ and d, in the decimal system are given by a@=xXyx3%4,

b= X4X3XpX], € = XX X3 and d = x3%,x wherex; ;=% * 1,i=1,2,3, thenthe HCF. of

——and —18
9

S5 dopgwe a, b, ¢ 500030 d 0, Saoddrdod’ a=X¥X3X,, b= x4X3%0X)
_ : ' : b-

¢ = xpXpX; 300050 d =x30pX T ah 500050 BAS” Xy 15N F 1,i=1,2,3 008, -—9—“

$5005 i!-g-c— o K.

1 1 @) 1 @) 22 (4) 33

10. Ifaand b are integers such that a2+ b2 —30a—20b+325=0, then the GC.D. (a, b) =

p+325=0 wabgtomr &oB, iy fFe. (4,0)=

oosens g, bed 22 +b2-30a-20
4) 20

(1) 5 (2)- 10 | (3) 15

11. Ifthe L.C.M. of two integers both greater than 1 is 1517, then the sum of those two numbers is
| 08 "‘Q_Qéé B0y YO0 g%, 1517 wond, w3t © Bt BoDgO 3080
(1).58 (2) 68 T3 @) 88

12, If5x=4y,then2y: 3x=
5x = 4y wow8, By 2y i30S
(1) 15:8 9

T

(4) 5:6

(¥ Scanned with OKEN Scanner
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. . B hen the sum of 't}
13. The L.C.M. of three numbers which are in the ratio 3 : 4 : 6 1S 144.T : Ose
three numbers is e
- = L 2
3:4:600)8S* &) Sordo Homge Sar.H. 144, wdyd v Dl DODY go

(1) 144 @) 156 3) 164 (4) 2838
D

14. The ratio of eamings of A, B, C is 8:9:5. If the earnings of A is increased by 50%; the
earnings of B is decreased by 25% and the earnings of C is increased by 30_%,_ thi_lll the totg]
carnings of A, B, C becomes Rs. 28,052.75. Now the increase in A’s earnings (in Rs.)is
A, ‘B, Co dorsse 348 8:9:5. A &g BoFES 50% A, Bdiwéz, QOGS 25y,
&) So0akn C Boog), doF&S 30% 2BASHE, A, B, C o 30do D088 &, 28,052.75
BWONE, VI A JoFrESeS* D HEe (Sriees?) -

(1) 1,111 - @y 2222 - (3) 3,333 (4)7 4,444

e —————

I5. A company designed 100 triangle shaped metal sheets of the sameé size in orange, white,
yellow colors respectively in the ratio 2:3:5. The sidés of cach triangle are in the ratio
3:4:5 and each of its perimeter is 48 units. If the costs of orange sheet, white sheet and
yellow sheet are Rs. 5, Rs. 2.50 and Rs. 4 per sq. unit respectively, then the total cost
(in Rs.) of all sheets is : '

2§ §0d 238 S’ 100 (@2hars8D) S oo, 08, Bend), DY Bohod
SOIM 2:3:5 9%)8 &° Erd8eyd Bod, B8 |BzHzbw S0, gheren 3:4:5 1YY
TI)oN. BN PAT iy Fod 48 LA™ 0B, 00E, Bend), H0Y o
O%0 2B, 28 .00 %, SERT 6r. 5, 6. 2.50, &, 4 wosdd ©d) o @Y,

Ango pB& (Srnees®) ' |
(1) 63,000 (2) 36,000 (3) 12,000 (4) 21,000

16. In a college the rafio of boys and girls is m : n. If 35% of boys and 45% of girls got
scholarships, then the percentage of students who did not get the scholarships is

2] S"a%’@‘_w‘wdx 980 QG m : n. F0e5° 35% T, 45% erdEen GH5EIEN0
Fob8, SITEBSS0 Fosd AT gHe TEo '

(1), J3m+1 Lngme ' @ 5(11m+13n)
m+n _ . m
s Stamilin) b

m+<+n

\ ‘Mm+n
LT ¢ :

P 6-A

m '«"_-l...__,' 4 '-1'
& Scanned with OKEN Scanner
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of 770 by 17, then.x =
go8 17 8898 wond, B X =
| 3) 15 (4) 16

1fx% of 670 i< less than 17%
670 &* x % Send 770 5 17%
(1 17 2) 23

17.

: , -
Raja’s salary Was reduced by 20%. Then to get back his or1 ginal salary the percentage increase

on the reduced salary, is
oo 0 20% égoém&o&. & S

18.
% <o 80N ol SRoNN €80 D DoUSBS

Fdo _
(1) 20 2) 15 3 18 (4) 25

ed by selling a T.V. at 10% discount on the marked ptice of Rs. 50,000.

19. 20% profitis earn |
[lowed, then the profit percentage 15

If discount 1s not a X
& 50,000 © PESS &6 $00% 8 8.0.0 10% &89,0t08h edndo ogo 20% oo
SD\0b. Esitr’groé.n:éa Q3800w &08 25%3() erefTdo g
| | . v
3 | (2275
1 7 % W 1 ‘
3) 28— 7 W) 27—
3) 10 ‘ fﬂ) 4
% gain; Y sells it to Z at p% gain

20. X purchases an article for Rs, 2 ,Q@O and sells itto Y at 25
and Z sells it to T at 20% loss. If T pays Rs. 2,100, thenp =
X 28 509 2,2000 S F oS00 9, 25%. orerds YS§ &'JZS)&IT‘, Y = p'
& wnd, Z 00 20% ST T8 wdyTd. T 390038 8. 2,100 wond, BHy p =
m @ 8 (3 10 4) 5
: § = i ____—-______________._--———"
21, Amixture of 20 kgs of powder of two varicties A and B contains 10% of the variety B. The
amount of the powder of variety B (in kgs.) to be added so that the new mixture has 25% of
variety B is - |
A 558050 B &3 Both 6
638 B 650232 208
S0srmo (8.0r.05°)
(1 1

WA

[ —

erer8 Z

$59065° B ggord 10 a~éSo ol
B §&o 25 a‘éoyé}é}oé‘, &

peferdo EONS 20 8¢5°e) g

4 4

(¥ Scanned with OKEN Scanner
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- : mixture with 949
22. Two solutions of 90% and 97% purity are mixed to mak_e 21 lltrfis tsfc] o 7
- purity. The quantity (in litres) of the 97% purity solution in the miX

550 @3
20%, 97% w5:9)3 SRS Doty i Semerss 0% 94% t5y Ko 21 OUE, D Erifes
Solnths B, & DESHOS' 9% Bs o @S0 B08mmo (BEES)
(1) s @ 7 3) 9 (4 12

23.  Avessel contains a mixture of two liquids L and L, in the ratio 11 : 8. If 9.5 Itr. q‘f_ljrlixtufe
is taken away from it and it is replaced by the same quantity of liquid L,, then the'ra’ug ofL,
and L, becomes 11 : 12. Now the quantity of L, (in litres) in the final mlxmre 1S
28 PES* &F) L) o800 L, &3 Bods Bo Fdoos® T8 g 11 8. T &og
9.5 008 FSrY) BB wod D0Srmorie L, (5508 58 B Wy L) 5005 L, o
P8 112 €908, 2y w083 Dsoos* L, 568mmo (D65
(1) 435 (2) 345 , (3) 36.5 (4) 285

—

24.  Pipe A can fill a tank with chemical X in 30 minutes, Pipe B with chemical Y in 20 minutes,
and Pipe C with chemical Z in 10 minutes. If all the

¢ three pipes arc opened at the same time
~until the empty tank is full, then the ratio'of the chemicals in the filled tank is
28 Ergohd A o3 1 svaso XEN30 Vlos s, B wd 2D a0t Y &
20 duos* S, C o3 PR 530S0 ZE 10 Qieres S DodKeP). o8 D8ro%0e5* & 5o
2ol grd &rgody dod 565 88D _&00d, dodomr &
NENTY \

) & 5SSt Saronme
(1) 3:2:1 (2) W3:6" (3) 1:2:4

4) 3:4:5

25.  Apipe B fills an empty tank 5 hours faster than the pi

pe Aand 4 hours slower than the pipe
- C.Ifthe time taken by the pipes

Aand B together to fill the Cmpty tank is equal to the time

ipe. ( "Mpty tank, then the time (in hrs.) taken by the pipes A and C
together to fill the empty tank is

2
(4) 43‘

LT

—

(¥ Scanned with OKEN Scanner
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6 A finish a
© 50 days WO
B started the W
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Booklet Code A

25 days working alone 12 hours a da
= y. B can fini
ne f.or‘ 12 hqurs per day. A and B are employzés?ou;e o task in
oined him after two days. If B works for 18 hou;l;lzizi the 1a;k.
ay and A

ork and A
urs a day; then the ratio of the parts of the work done by A and B aft
after 7 days

ning of the work 18
cog Gt 12 Koo TIYS 3% 25 Seros® 0 Bohlodk. Badhd «d
8 .Ba§d &

400 62 SHyS BR 50 5‘&’0@5‘ 70 Bohreod. A Hocn B & 5 &

§ K)oﬁo:boiisacgd). B o 392 3ndenads 2 S SHTE A vddS :;%

(O iD. o s S0k Al 12 fobeo IS 3 Ih, |
g A S00%0 Bew 308 39 grme IR o

(2) 20:21

(1) 10: 1]
3) 18:23 (4) 22:25

task in
ing alo

20 days, 8 women can build the same wall in 25 days and

pbuild a wall in
1in 30 days, then the time (indays)taken by a team of 2 men,

97. If5men can
uild the same wal

10 boys can b
6 womeri and 3 boys to build the same wall is
4 20 Gereds' wd AESs 8 ood @m 75 SaredtEr S50

5K YOI BB A
45 30 Swrod'S® D0eSKONS, agts HEL, 658> R
2408 LA G &)Oéodcs‘m 58 s"o0 (Swod’)

(2) 10

(1) 20
4) 15

(3) 12
of size S, then the time (in hrs) taken

)8 1f17 persons in 17 hours ean'paint 17 identical rooms
by 150 persons 10 paint 150+identical rooms of size S at the samc rate is

17 %008 $5589e0 17 Kovos® e S & édﬂgééréoﬁ':&:é‘l 17 Kb Soid Ac5K008,
150 S008 €38 6&0s’ HAB R SgHe S e xoas 150 ‘éds;&é:‘:ﬁ@éﬁ Ko God

3omrs HPsTe0 (Kobreoess®)

10 Ho008 epentd @8 i
$8050 5608 eredld o o

(1) 150 (2) 17

150 7
3) — L
) 1

LT

(¥ Scanned with OKEN Scanner
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29. Three persons P, Q and R individually can complete a work in 20, 15 and 12 days Tespectively.
Q and R started the work and left it after third day. The number of days required for P
complete the remaining work 1s

Boorhd Hg8gen P, Q 58050 R e -aJé 3 &AM S8dm 20, 15 Sodcsn 12 Gﬁaeae?::
I8 Boded. Q,R oo & HIJ @Eodod S Swe Eogd CS‘KJQ RIADESRAV _
DHOS DI P Grg Boirds wlddldy Swe dopg

(1 14 (2) 11 . (3) 9_ _ _(4) 8

30. Atrain takes 25 seconds to cross a platform by travelling with a speed of 5'4 km/hr. Running
at the same speed, it takes 14 seconds to completely pass a man runningat'9 km/hr in the

same direction of the train. Then the lengths of train and pLatf@_x_;g are respectively
(In meters) \

Hota8s 548.00. 308 Hosre3oB 2.8Bendo ¥ TEFNH TLTRE 25 DESe0 HoS08s,
08 INos® FD © Bendy, o 9 8. Ko vl BFS® DBABHDS) 2.8 5A%D

JOT Tmds, 14 aéa’:ae.n DEH08. LIYE &, Den Sodosw FEFIO FEHeo
S8/ (Qoerges) |

(1) 210, 140 . @ 175, 200
(3) 245,130 - @) 175,375

31. A person travelled 12 km ata certain initial speed and then travelled 6 km at a speed

-2—kmph faster than the initialspeed. Had he travelled the entire distance at the increased

speed, the time taken by him would have been 20 minutes

b less. Then the time (in hours)
taken to travel the entire distance with initial speed is

w8 558 508 FEorf FK08" 12 8..en Boire300S EhTé, [ F8odf IK0k0d Kobrtd

1 : '
Eéﬁb A8, S S0 6 8.2, PSrBomr. & Ao &ro7d) oAS KT Hasredod

08, 088 20 diwo S5y, coéaci’uo 28 60ab. wiyd Fdos K08 Indo &roed)
©osredosards D85 RISY:

5 4) 3.5

-
(¥ Scanned with OKEN Scanner
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Sallne amount of money‘ is given to A and B at the same time. After three years, A paid i.t back
with a simple interest of 10% and B paid it-back with an interest of 10% compounded
annually. If the difference of amounts paid by them is Rs. 46.50, then the amount (in rup ces)

given to each of them initially is
18 somos” BATIRY Sy A 500050 B 0% anidgadod. Sz Sodgore ddhard

10% Eydg;’)%é‘ &90535 B0z A %8050 Fos 10% zﬁ@é%é"’ @6335 3wed) B son
390, T BYoDS ZnEo oy Bo 46.50 0008, T08 2,87 8,08 |FSoos’

ad)s TN (BrFroDe)
1y 1250 @) 2,000 - (3) 1,850 (4) 1,500

A person X borrowed some money for simple interest at the rate of 6% perannum for the
first three years, 9% per annum for the next five years and 13% per.annum for the period
beyond eight years. If the total interest paid by X at the end of eleventh year is Rs. 8,160,

the money borrowed by X (in rupees) IS
X e .8 $58 Sob TS0 T 538, 2068 Sordd 20SHT OB e 6% SFBLnS,

T8 o HoIGT K 2t 9% éé‘éé.m’s".&r 508050 B JoSdyore SN0
co08 Dir 13% $88e0sSr wdym GFTA. BEE08S BoddyTrodos® X BYoDS
amdo 56 . 8,160 en wond, X eoym 52E ) @) (Erdrad)

(1) 10,000 - (2) 7,000 (3) 8,000 (4) 9,560

34,

35

=

o

If the simple interest on Rs. 1,750 for,3 years at 8% per annum is half of the compound
interest on Rs. 4,000 for 2 years at x% per annum compounded annually, then x =

BE 8% r3hS Srdy So8GTEs 1,750 &rioh edby 5§, 6 1% & Fob
5§34 KeBoDSHE et BoSgoots 4,000 &riep wdlg 545 o wond, e

X=

(1) 11 ) 10;— (3) 10 4) 12

A sum of Rs.1,600 is taken on compound interest at 20% per annum for two years. The
the intere apnually compounding basis

eSts calculaled

difference amount (in Rs.) be
and on half-yearly compo

20% SoS5¢08 B &
58 HoS38yrass>s B8
Ddgho Sgemgpo TS0y
(1) 742.56 (2)

(¥ Scanned with OKEN Scanner
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: ; ths, Awithdx‘aw
36.  AandB entered into a partnership with capitals in the ratio 4 : 5. After 3 mon S

1 . hey shareq
41 of his capital and B withdraws 5 of his capital. After 7 months from then, they shareq

the profit among themselves. If A’s share of profit is Rs. 330, then the total profi; |
(in rupees) they have earned for ten months is

4:5 D;’aﬁé‘ﬁc SorodTus’ A 06050 B en o€ iirgSorg Q) SE0HOT . ek

' : 1
. l \ 1
SO0 ENHTE A 08 SoredSo Sood P! S S0, B u8d Swrodso Sod S S

Dok 3388505, EH)E $08 7 Boo StmE, T o) Souoomm,
AT o750 330 rien. wond, 103ee S8 T8 $0FBoDI S0 G5 (Errahe?)
(1) 800 (2) 750 "

(3) 760 (4) 740

37.  Aand B are partners i a business. A invests Rs. 12,000.and B invests Rs. 20,000, Out ofa
total profit of R, 9,600, A receives 10% of'the profit for managing the business and the rest

ofthe profit is divided in the ratio of their capitals, Then A’s share ofamount (in rupces) in the
total profitis =~

&8 TEIEOS" A 5005 B o dhidngibes A B398 12,000 e $560%0 Botagns
20,000 &xiex, 0go ergfo 9,600 ruees*, TETTR) SEYSK)0B5mEr erzonst

10 76 A ot 2805 @03\t PRBO IS SoDEapn. s Ando
THoS® A Fod i (CrSrataes)

(1) 5,400 - | 2) 4200 Y gv
(3) 3.240 @) 4500

8. Ifas -. T

28 5058y SR

8 Ro.5y, ©oNd,

SEI™ 5 205, 308050
Oll. ee5?)
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as shown in the figure below.
S Srdd Grdod’ Gob.

20

The shape of a park is
o &D“g(‘s&’)c‘éo, & 8od B’Jégo

20,
[f the shaded portion represents the area covered with grass, then the area (in squareunits)

uncovered with grass 1s ' | N
5.5 BohadsS o, 1EE’ §5y288 Togo SOl wdyd KES' SEWED arisw
L Bwf), TOFO (S5 oordLS) ,

(1) 212 (2) 102 . (3 198 - () 52

40.

A window is in the shape of a square surmounted by anequilateral triangle such that their
dow is 6 m, then the area of the window in

vertices coincide. If the perimeter of the win

square meters is | ;
2§ 86§ w50, BHERS0P YoS0m 0B ghadn FdYo w8 Jdoerdo Bedrdnd

| & Bododd 3¢Soen 28gsDoHSenm S0 ErHos® od. §¢38 GBooE) S8 6 doiwond,

5669 DS © 888 BogEITUgO | |
() 143 . . 206ANf (3) 268 . (4 28

41.

A cube is built using 216 cubic blocks of side one unit without any gap in between. After
it is built, one unit cubic blockiis removed from every corner of the cube. The surface
area (in sq. units) of the resultant structure after their removal is B

2& GRS hnSNm.fe 216 HITTEY BIN0E $HE5S* grdeo Bom wf DTY
QBT 6. aw&m SHard DI RBE), (K8 e %308 ¥ 0HTEAS HITFOR
B30y FoRoTE. TEA Fohods SHTE EBS doymo EwY, Gidse FTOL
(5. 0SHrIGS?) |

(1) 192, (2) 180 (3) 216 (4) 196

42.

" needed to build

If the measurem 6 cm, then the number of bricks

200.0.00 Fode
(1) 5,600

ginie dopg
(4) 7,200

(¥ Scanned with OKEN Scanner
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1fa hemisphere, a cone and a cylinder have equal bascs and cqual volumes, then th:e Tatio of
the heights of the cylinder and the cone is | '
o8 gD, uf fomod B0 w¥ dpdin HErd eEOswed 0800 DI E iy
SodrEren $OA OB, Srisn So00m fopd &Ko N3 |
1] 123 "y 1:1 = (3) 2:3 (4) 1:3

44,

A circular sheet of radius r is divided into four equal sectors and one sector is removed, I

. g Bin th
1s then folded to form a cone such that the perimeter of the base of the'¢onc is [i] of

the perimeter of the given ¢ircular sheet. Th : o. & - N
- I'nen the ratio of the slant : :
of that cone is - Slant h@l_ght and base radjyg

rEggor Ho a¥ $yEssd hende arenis RS DR Do, 28 DES: T

45.

7 3
Zy>Q;
2y_8$

3x+ 4y + 5z = -2, 05

(x’ Y, Z) =.(O:, B, V) &

(1) 0

A
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,d 9 O’clock, when the times at which the minutes ang hour h
ands be

en 8 O’clock : -
min. and 8 hours 7, min., then 7, +¢, =
27

with each other are 8 hours 7
Do S0wy B0 Hobeo Swews wirys
3] & a.:ééf)

g, Bave
gt 127
o0 $6050 9 Kotre S04,

g
= o)
j'l + fz =
874 | 960
—_— 2 I
M 7 @ T
748 | 225
QNTE ST
48. Thetime between 2 0’clock and 3 0O’clock at which the hands of the clock are in a straight
Jine but in opposite directions 18 .

9 . :
(1) 2h 4min @) 2h 42-111min.

(3) 2h 43%11’&11. (4) 2k 421—91-min.
2 S0enen w8 JEF0peS* o, 55808 AEGN

<

2 fobre 0ok 3 Hobe 306§ (AArE

é‘élé.,)ﬁ P Tovelol ' ,
. | 7 DN )
(1) 2#o. 43= 2. - @) 240 42— IV o' \53
: 11 11 4
(3\./ N
(32 fo. 434 - Yo
. N (4) 2 Ko. 42— Q. ) §
1l AR R
B . o B
49. If the number of times the hands of a élock coincide from 6 am of g Aug“StZOZI to 6 am

of 7™ August 2021 is n, then n =
2021 iy 55 86 SEcho 6 Koo Ko 2021 wiy 75 86 &Eao 6 KoboBE8 w8

O KBETFEoS* Bodosoeoer nard 8%, byl n= o\f\\
| ((;; ;; | (2)307 8 SRR B>
O R Q'\}qj wy
TR e "
o &
A )
£
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elg
50. Theaverage wc1ght of 45 students in a class is 52 kg. Five of them whose avcrar;; :;1 ‘ dht is
48 kg left the class and another 5 students whose average weight is 54 kg joine dss.
Then the average weight (in kg) of the present students of the class 1S

w8 SEA8S' 45 Ho0d Irgho JKtn 28Y 52 2. 0S¢ 48 $do JBHkn 2&Y Ho
S8 & ESKB S8 IYHIFT, 548de KL wihY Ko D6 SHK TR S
S558e5° Jook. z&: g0 © S0K8S° &) Dorgeen Hifeo 289 Bdod®)

1 2 2 sad
(1) 523 (2) 533_ (3) 523 (4) 3

Answer the questions 51 to 55 after carefully reading the following information.
Five persons A, B, C, D and E are as follows:

(a) Eis intelligent than D but do not get as many marks as D.

(b) Cisintelligent than A but not as intelli gent as B.

(¢) A gets more marks than D butnot as many as B.

(d) E gets less marks than C who gets less marks than D.

(e) Eisless intelligent than A.

808 J8roroR) S S8, 51 S09 55 568 Kes @r‘g_’p& T8 50),
DO Sg8oen A, B, C, D, Een 8od Doy wI0:

(@) D&o8 E893355a 520 D ToBIR) S8y 0 FosS.

(b) A%o8 Ca935538 50 Biewsd S8IIST % ¢,

(c) D&od AQ&ZIS’J Srdy e othed =, B FoBI) 5.

(d) D o8 #5935 Sorcopen Fod C 508, 205> 5,5 Sr&) e E Sodhadn.
() A¥oB E 8895 30IST¢.

51. The person who gets least marks is
wEgod EE) Il 0 Fod 558

(1) B @re (3 D A E

52+ The person who is intelligent than all the others as well as the one getting the highest marks

1S _ 5
DAOS ©osdEoB Eé"ff? T8 0dghE Srdp e §ra Fod $g8 S
(1) A B (3)EE (4) D

L —
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y d in a row according to their ranbin. - -
ffall the perser StE1m' - & 1o thelr ranking in ntelligency 4,
53. exatly in the middle 1 | s then thcpCrson
09 éé;efegf;‘cvgos’\w ST GO WOBE Sgoen ;é SEBS* Hesy

Booklet Codg

008, ko)
4 568 o g
408 P85 -

: B

The person exactly in the middle, if all of them stand Inarow accordj

54. Ng to thej; rankings L

the marks i

sriqo o T8 IO THORL SIdem Fgodtr o8 sy Jegos ¢

55365355 0% 558 - » S dorp
« 1o & (3). C

(1) A ( . | A

55. The person who is the second ranker in'intelligence and the fourth rankerin

s

8998L0¢" Bo&' T°go¥o, Sty & Fodiag TS o505 Ko 38
(1) E (2) D \ﬂds 4 A

getting marks

Directions: Fill in the space marked as ( ?) with a suitable natural number from the given options
mn each of the questions 56 and 57 and write it as your correct option.

RS 56528050 57 BH0S* (?) & HrB0dS D, BBEHS Hira Sopgd ad)s aR)reiod
0, TR Ny 66@5 a:n:)‘)éon" oroRod.

56. .
[E 13| 11 .23 | 2171 41 29|17 35 3314319

by 39 ¥ 23 ]
08D @w - g AW
57, _ _ .

: v .
. 1@3 2. 3 : @8

5 . S | - ;
M .0 1;}/
Ui | -

17-A
|
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59
: : mbered 58 and 59.
Read the information given below and answer the questions 1}1}11n A
A cube of edge 8 cms s painted green on all its faces and the s
edge 2 cms. The smaller cubes so obtained are separated.

& 80b BirTdo 582, 58 5080k 59 POk 2SOy = :39
- B (0] o &5

S?oo.bo.@oéoﬁeq 28 PSS Roog), @) Sogrofd sHDF) SoH & ajm by @Sdogpé

T 20.. o E9RS %) DdSowm Fradd. aly S 9 WTOYEI Feyas |

v
. _ . K:(\f
@ 58.  The number of smaller cubes each with three faces painted green is ) Q
RETY cﬁ;as?g_r oy S D sHIY) Jord JohadS ﬂéﬁl DT ©ORS @/

(1) 4 ‘(Zf? 3) 16 @) 24%\5{%

v
59.  The number of smaller cubes with no face painted is \;v. -

) éna::'m"?ea* oy BKom &od D) DT Somg })
' 3) 12 4) 16 NI
1) 6 2) 8 (3) A

Data for questions 60 and 61:

Seven persons P, Q, R, S, T, Uand V teach seven different subjects: English, Hindi, Physics,

Chemistry, Biology, Sanskrit and History, from Monday to Friday. Not more th
are taught on any one of the days.

Chemistry is taught by Q on Tuesday. S teaches on Friday
Physics but neither op Thursday nor on Friday.
Physics is taught. R teaches Biology on Monday.
V teaches on Thursday.

60 Sosasn 61 RHoH deroio:

ABHD Sgen P, Q, R, ST Y 030 V ew 505760 S04 DETCo S6% ek Bedtd

PpPen FHFH. ©d SofS, 33‘0&,’?3‘&35:3"@0, S8 %o, £5

SO D 28y, B Yotk Ko sty 3 RO S0,

SoondTso QBFaRE >0 OXH. S Higae
b 2 = =,

S QoS. U E@é?@o SR, VOB Kyesy s

T'EoB EwRI P 508 0. aes,s

BN BFCHAE T

an two subjects

but neither English nor Hindi. U teaches
P teaches History on the same day on which
English and Chemistry are taught on Tuesday.

T2

T o, Loy 80 $r0aio

8o o, Cond QOADMR, Trobmd
Somd, HETsomy TQouds. F8ETRo

TS0 Ra‘é%ﬁ@o eS“ézc_;;cso Sol¥Tdo aOéz-‘*’
20 QoD EE 0, V K80 TGS B,

. . i @b' 3 -
60." Which of the following pair of PErsons teach on Tuesday? ~ /

& 08 TS D 28 Sggen D0KETEo SRX6?
(1) ST 2) Qu (3

[ ©-To (4) RT
., =

...
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anskrit 18 1au ght?

0 5
day, 2)

ieh G
OnW hicl Friday

61 Thrsday
(1 i (4) Saturday
3) Tuesday

) g

(2) ®dE>8o
(4) #dardo

5350;?0’0
()

(3)

ons for question 62: |

e in the first pair of problem figures bears a certain relationship to the fist
- oure, Similarly, one of the figures in the answer figures bears the same relationship to the first
i—:;m-e' - the second pair of the problem figures. You have to locate the figure which woulg fit
11gulL,

into the blank space marked with (?) and give it as your answer.

530:‘{‘53160

Dil‘CCTi
The sccond figur

62 PH eSS . _
é:’nﬂ‘gééﬂoé‘&) 3088 280 o gTos’ VoKD DLSNSE I08B5LZ0S 2.¢ 003
Sowodsn ok, ©BdGomr, 2amn HLSNOS'R, 2EDLBN, BT GHLS' Bods 2SS
Z0EBH00E SBIGS BowoFR) E0h wod. (7) K&K 5@ TIS0S* 5058 S
E05)0, TAD o ddrgrsor 5508, ‘ .

62. Problem Figure :
DRy B0

RENVE

© Answer Figure:

[~TARAN) 'sﬁbo :

| s
&l @] [a) [&
) ®) '

©) |
(1) A @ B 3) ¢ 4 D
e LT T —— gomet N

A -
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: ions 63 and 64.
Based on the following sequence of numbers, letters and symbols, answer the question

S8 RSwdS Sopgw, BESSME H8050 vodare sHEH0 srrdsnm, 63500550 64 RHok
. T L 0

DSrmso wdg0d.
;\*BCR1\’6@158MP$2YTTWK.9+L{Q3.D-:&I'IﬁNIWfJJ’

63. The number of distinct symbols cither immediatly precédcc_l_or immediatly followed by a

number is .
28 SopgB IHBoLI $00kh ¢od FT I Bobd BHE BSoBboSwd D) ¥o8EBHe
\}", Sow : '
S ' .
/ Wb 4 AT S
(3) 6 (4) o7

64. The 22 element to the left of the 8™ clement lying to the ‘right of ‘U’ is
U8 90839800 85 farofsnsty JE3Hste 025 SFetin
(1) E | (2) 6

B
(V\.z@')/@ | DR

In questions numbered 65 to 69, sequences of ntumbers or letters, which follow a difinite pattern
are given. Each question has a'blank space. This has to be filled by the correct answer from the
four options given to complete the sequence without breaking the pattern.

05 3308 69 368 Ko BHOS* Songserd, vETeIT, o8 QR Sra (558)2 SBoBers

&) ODESTer 2T, B8 HHS® ak TV 508008, ©HESIHEFIE oKo Sonson,
s 79 QNS T DO Ko0d HBwoS TSk JBoTd).

< Py L% ‘é--
8
65.  6,21,52,105, ' 301 L /{g/ﬁ\?}r\
(1) 124 | - (2) 138 | o o 3
(3) <154 4) 186 . L *
. /g‘l,- ‘\//‘
66.1:..75,105,165,195, g5 : - }/
(1) 215 . (2) 225
(3) 235 | (4) 255
L e 20-A

\ —
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EKNT 2\

N\
EISM .
s 0\
a7 5%
- OR, FUS, ' eV T ¢
{1 - (4 GVT E 3

\
69 TRQ PNM, LIL, ,DBA /@ ‘o
B(1) EFH \‘ (;) HEF o\E \_‘\ |
(3 FEH | S
by f : @\ \b\}k . o
' yuestions from 70 to 72: | F o
Directions for Question 3

h of the questions (70 to 72) there is a certain relationship between two given entries on__
In eac he other side of (: ), the correct answer is to be chosen from the givege

ftside of (: :). On't . . : sad
L};Jctifns bearine the same relation that the pair of entrics on By cit sideof (yhasand give fos
g |

your answer.
70 So08 T2 568 fo BhHob SrSS:
105508 T2 566 fio ©8 BHS (: ) 38,880 FHS @S Sodb woiinedh DS ot 3

owoto wod. (::)8 Bo& IS, & 9‘3:)5’05305 (1) 3% &S0 FYS Ao 8 voTo mé§ﬁ§,@")
50330@*31 ©8DoDoBERT HBGK VIFFTR) JODER, T 2 2T Q0. tb/'\q,
‘Ls."c‘ \Q/ @ {"ﬁ\’ #,
. BCR:L:: : _ ¢ ,&3@
() FGQ:H €4 b, &n ¥ @) KN:T - qatVy @
(3) DET:P 0 e Lot \b (4) CDN:O I\
G ¢/ ,8
113 Cl 1E: 3K6 4 : ' 1 W\ 3 /é-iu{
@ (1)4.D12G:3L7 - (2) GI8K:8R7 /\ \,\/}
3) Cl4D:3M2 T:5M8 -
3
. S ¥ v VO
N ¢’
2AE: 26110 . O(‘k : ‘h(‘ ; f "k\so

c;/} Ui X. o . 1
b (;9 \' 0\, = U\.//u\, ' y

& Scanned with OKEN Scanner
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I. each of the questions from 73 to 79, a question is followed by two statements I and IL. Give
n :

your answer as

(1), if the statement I alone can give the answer to the question;

(2), if the statement II dlone can give the answer to the question;
(3), if statements I and II together only can give the answer to the question;

(4), if statements I and II together are also not sufficient to answer the question and additional
information is needed.

4

73808 79 365 fo B8 BHSEr, o8 §4) Sos Dok BSSTes I, 11 e oo,
B35S0 183 & OF SSrerssnts as5Kons (1) w:
5550 11 88 & Byt dErEsmIgHOna (2)

\

@&550 LI e.n‘(n B0&08Q 8F0BF w ©#H% RIrTSNSKOAT (3) 09,

RSSSo LI en Bodse SRET), 20508 JBIrTES00T SJ)es (DHH RTWRSBL0 &)O‘ﬁ'ﬁ
'(4) ®0; nDSSJ‘E;S“c'SE’JDDﬁ‘ 25¢0b.

73. " Is the perimeter of the rectangle more than 65 cm?
(I)  Its length is less than 16 cm.
(II) Its breadth is greater than 10 cm, _

| @ BY, HEEED $tpE o865 0,05 o ©RESH?
D =0 69 16 20.20 %05 S50 3.
@) &2 3des) 1070.5 soB 2895,

74. Isb>a?
(D x+3isafactor of x6 —27b
(1) “x=2 is a factor of x2 -4q°
b > aoHson
ML 2%~ 27" %, 08 seomogss 1 4 3
) x* - 4a” Soo) 8 S6ermogin 5 - 2

e

MR

| —

——
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any Sup days are there in that year?
o I;:ebruary has 29 days in that year.
: The year starts on Saturday.

@ SR esBTE30e AQ)?

- .:J : S ¥On &ob
2) 3 od.
o ¢ H05é §53065° DRRd SO 29 &z

a) @ H05&)BB0 $d608" BNETRB.
- - 3_then what is the value of S?
76. Ifxo+xl+x2+...+xm—Sande 3, then

X0

75.

px, 41y Kpg = SHO0W X = saxnd, sH56 S G0Y, JusS Jog?
Xo" A
(I) X, = 5%, forn=1,2,..,10
a x,>0 forn=1,2, .., 10
e ——

+77. IsAABC right-angled?
AABC von§'e (@a0ea?

0 |A=2B
m B=2IC

78. Is a% of b equal tos% of 1 ?
b &%) a%, t ¥, §%SE SErI?
0 a+b=s+t

D) ab#st | ///

——

79. . Whatis the integer value of m?

M B0Y) o8 devd Jos?

N —< 1
» 7 2+m<2

(H) nIz + %= 10”1 /

U -
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A-2 Booklc‘t Code @

ertion (A) and Reag
In cach of the questions 80 to 82, there are tWo statements labelled as ASS ( On

(R). Choose your answer as - - n
(1), if both (A) and (R) are true and (R) is the correct explanatmnt'of;l (Of)(A)-
(2), if both (A) and (R) are true but (R) is not the correct explanatio :

(3), if (A) 1s true but (R) is false;

(4); if (A) 1s false but (R) is true. |

805008 82 36% o BHoS* 28880 (A), 5600 (R) ¥ Bodk BIITITHE.
(A), (R) 0 Bodr B8gsodr, (A) B0k, OGS 258 (R) @cmé_(l) ©;
(A), (R) @ Bodr 38598, (A) B0g), HOGDS 56w (R) 57808 (2) od;
(A) 352, 9 (R) wddg0 wond (3) @

(A) ©38g0, 529 (R) J850 wond (4) ©; JobE Bobodl.

D SIFT oy

80. Assertion (A): Inurban areas, smog episodes occur frequently.in winter.
Reason (R): A lot of biomass is burnt in winter by people for heating purpose or to
keep themselves warm.

DBHBEdn (A): Do (FodSnod® FE Sood S6SbSon ST Ioese St
' ' S0zIDIFo0m.
s80 (R): 3osrosins® Pues, 38 Sciw 308 So° 368 SFETQ) o Bom s
Q08" K S &S Sgin (biomass) & sendds.

81. Assertion (A): The radius ofa sphere is 3 cm. If the radius and height of a cylinder are

3 cm and 4 cm respectively, then the volume of the cylinder and that of the
sphere are not the same.

The volume of a sphere is equal to that of a cylinder when the radius of

that cylinder is same as that of the sphere and the radiug of the cylinder is
th

) of its height.

QPSScIn (A) 2.8 A¢o g, F§80 3 0.2,
QB0 SEIr 3 0.5, S08630
FgSve G300, DIDBSregren %

Reaéon (R};

8 éa{;‘éo Roog), TS0 S08030
4 0.2 wond, BFHB0 308030
SrSom “0KY). .

5*8eo (R): a8 drdo By -
R) S &, a‘gﬁ“gm a8 Ao cm:aézr a‘usﬁpoc;

- 4
D8 BSrSD, KO

gy, TG0 oD Jedyest 3
8 3 45 o0& wand NFD0 Boog), SHOITRO;

I et
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1] internal angles in a regular hexagon is 720°

. The sumofa
(n- 2)rx

Asscrtion (A):
Reason R): The sum of all internal angles of a regular polygon is
oapgdsi (A) &8 &S0 BinE 0T

2§ (55 oeHE G0 ®od8 §erroR)odd Indo

wodd o Sngo 720°,
(n-2)z

80 (R):
2

stions from 83 to 87:
four given options are alike in a certain way and form a group. Identify th
‘ g

p and write it as your answet.

Directions for the que
Three of the following
one that dOES not fit with this grou
3 o8 87565 flo P> IS

Toeid a‘JDﬁ)S‘O&?ﬁ Sorchd, w8 dBA 2E50S® w8 ddumradom bdq)cégucm &

B33 A JEPEE e
4 4rros08 DG S a50dd PQ)ESND %800 T°AQ a0 2T QS00d.
B ot | ;
ooty @Be O ME T
84. :

(1) Guava (2) . Watermelon (3) Papaya (4) Apple

(1) o (2) 66 oS  (3) B (4) ©bS

s

85.

M 3534 @ RLENTO 7 11,160 (4) 11,13,290

86. | i;
1) (11,60,61)  (2)(5:12,13) (3) (7,24,25) @y (9,40,43)
87, */ :
(1) (N, 14) (Z@ZQ (3) (S,19) 4) (P 16)

88- {. - . - - . ) . .
Twl:qsthdl-s speftdingiggSouth to Anil and s in North direction to Amal. Amal is standing I
West cl’reftlgl to Sunil. Sunil is standing in South direction to Vishal. Vishal is in East

himyth L al?ll. ff_ Nltl_sh is in West direction to Vishal and standing immediately afte
o , Sen in which direction Kapil is with respect to Anil?
N ougl-East (2) North-West  (3) West
@:}? chgeaomﬁ: 506050 ©%HSE &EEBISH Jond T, P
Ak e;a;‘g?zgxf; azeié SEeadTS’ IS Joad &7l EnSs

; odd 2 : 5 :
$06 O BIS* Ga)k? S A o g
(1) whoso ‘

2
: (2) arossgo (3) du5d

LT

(4) South-West
5,58 HESEOTS’

ESIe) a¥es” a7d
& @5{{)(‘5 Hdorr

25-A
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-West. Then she walks 15 Meterg
§9. Starting from her house Neelima walks 15 meters to hCI} ‘Y}‘::p zst office. From the pog,
to her ;iaht followed by 10 meters to her right to reach (et o Foright. The, e
office she walked 12 meters to her left followed by 32 me ” ce from her destinatiq
direction from her destination to her house and the shortest distan . n
to the post office are

m
(1) North-East, 4/73 m (2) North-West, 20
(3)  South-West, 44/73 m (4) South-East,20m

208 £08 20Hendds HO5 S HEHE IS 15 Dl SEIIH. SHTS I 8y
08 BHK 15 Dbody 369, S 28 &5 HB BHSH 10 Hod 88D e ehig
D000, drer whiv $008 &5 s BHH s 12 o IYS é\daar *S,,fss a
BHS 32 Doboy 58906, Tyt @B Ksog xS0 Hod B 208 THIH Ao 8
0Bk &R Koy Fo Pod S BhiS Ko 83 8o

- Ly
h AR Y
(3) 3%8, 473 . (4). sfapo, 20 . % U,'lv
i W
| g
Ina certain code, the n™ letter (n#15) of the English alphabet is coded as ;I letter of it, where "\/

28 JBRE GeS* ©olf EESraS R NS eggb‘anl (n # 15)

'S wgSor §& BT, 0 & roIB,
M+3 D 26 B erhoSir 53 $o ( ;

SIS0, 78 086305 G 9 L m §& D7, dodogod

90. The code for VICTORY s

VICTORY & &6
(1) IVRZYOX (2) IVRYZOX
(3) IVRYOZX 4) IVRYZXO

LTI
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91. The code for POLICE 18

POLICE § §6 ﬂ
(1) EZKVRB (2) EZKRVB
(3) EZKBVR (4) EZKRBV

92.. The one which is coded as YOUTH among the f ollowing options 1S

8ob osos® YOUTH m 86 swdss
(1) TRNAS
(3) XZDYQ

(2) TRANS
(4) TRNSA

93. If the code of a letter is its immcdiate succeediﬁg_letter in the alphabet, then the pair of

such letters is
2§ wifo AWy, §'G, wifsros® o 353063 SSHTE 5?53 eaédo BSOS, w0l

@iy =8 :
(1) LM | QAN
3) Y,P - "N@NS.F

94, The number of letters which are cod¢d-as their immediate preceeding letters, is

Q8 EEmo S0k wEo), TR FEM (OnS oo Jomg
(1) 0 . ()N | (3) 2 @ 3y

There are 5 petsons P, Q, R,’S and T in a family with three generations. There are two
married couples inthem. R is the mother-in-law of P; Qis not married to R; S is married to
T and T is the'son of Q. Then the ratio of the male members to the female members of the

95."

family 1S
Sy hr 070 SgEed) e Srtwowod® 5 HK Sg8e P, Q, R, S, T esand. 3°8° o

N oTS 2L ITT)O0N. P @), egmdd R;R & Qé QTG0 5°8Ky; T& S &° ATTR008
%5050 Q Bk, fodrddd T. wdyd © éoé.noama.‘i?ge)é‘ SoKT68, ﬁa‘aé 333:.‘,555@

2%3' ; ) 3:2 . i) —
A - & @
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The criteria for admitting a student in the first year of an engineering course arc as given below;

The student must | 0
(A) have passed XII standard in science group (stream) with atleast 80% marks.

(B) not have more than 20 years of age as on 1t August 2021.

(C) have secured more than 90 marks out of 150 marks at the entrance test.

(D) be able to pay Rs 25,000 tuition fee in I semester and Rs. 5,000 admission charges at the

time of admission.

In the case a student fails to satisfy

(1) : (C)above, but he can pay atleast 60% of the stipulated fees, the case may be referred to the
Admission Committee.

(II) : (D) above, but he has secured 95% marks at X1 standard, the case may be referred to the
Chairman (Admissions).

You are given the following cases as on 1% August 2021 in Q. Nos. 96 and 97. Give your decmlon

based on the given information and do not assume anything. If the information provided is not

adequate, mark ‘data inadequate’.

28 QOoRABOA §°E0)eS*R B0cses cooaﬁe:s“)cfoes‘ 28 35"52 PRT8 Ko JVoLT 59D 18od Do a&y

QS58008. _ -J{
s :)crgg 4 | - &O_ p O\/®
(A) 28y @55 (Darrio)s” 8050 80% Sra%,08° XIS 8658 ¢863 Somd.

g

(B) 2021 ey 15 86638 20 wo;’)én)c‘o SODBIY8 oD GodBrEr.-Y
% (C) ©335655° 150 & s 908 60 Sy en BeinFD Sowd,

(D) I 220 6es* At dacooén Soc. 25,000 558030 Loa3-3' Jdoosroes? &9&&)&5 TPy
=]
Ry, (338 @) 6. 5000 3008K0n Gome, | ¥
‘—-l==:Z-
2l ¢ a;_é Do°g8 | @

) 23 2y (C) $HRS0ss55y6, 83008 cwsnvest s5s0 60% §&50A8, & DA
CELRE NSRRI
(I): B3 &S (D) GR30sss360, XII 5 S618S° 95% Srcty e 59y &od, & dAcwd)
) B6S (BFTe0)So D685,
6558050 97 dHOS* 2021 wigy 15 868 @os RoSTIo0 208 wSg@on, g
WroBKow, RS Direroy) sEdomr DRED, NG Bordod, QNS B8O
8nS0es BBy DSrTGo voHEI0E B K $80S0a.
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ion. sth September 2001, secured 85% and 65% in XII standard in science

gudent P A e a
d at the entrance test respectively. Also he 1s in a position to pay the requisite fees

' streain an
and admission charges.

| (2) Refer to Admission Committee

(1) Adnt ,
(4) Data Inadequate

(3) Do not admit _ ‘
ped OT°50 75 -?oagoaas 2001 & laaXJ&Oa, XFI S88BSQ j::gESJcJ B0 D, HIF S8Ee5t%
sy 85% BoBosa( 65%/ S5 ©0 Bup)F I, ©oBME DYoWSORS Dardo, wAKRS

ho oKOh RBS’ ead.
(1) eays SssTd

PPBaS Sossrds | @ SErIO0 HOSBSOEBE D)

(2) ©&RS EWBE Hod

Student Q born on 20" July 2000, secured 85% and 75% at XII standard with science

97. o s ol

" otream and at the entrance test respectively. Also Q can’pay the requisite tuition fees and
the admission charges ol :
(1) Referto Chairman (Admission) " A2) “Admit
(3) Do not admit o ‘ (4)  DataInadequate
dmgd Q2B 20,2000 &° 2dyoR, XII SEABS* D<) DerKos i, HIF HOFS 0 S
85%, 75% Sirp 0 BT, wS0EIE ey, @ARS rhen 390D S” Q&IB
(1) odghd (@3reo)s dFBomd~ (2) ©dyS BwsTd |

07 Oy el BsErss  (d) dSrerdo H0DES0SBL

—_——

98. Five persons A, B, Gy D and E sit arourid a round table such that all are facing the centre of
the table. A is diametrically opposite to E; C and D are neighbours of A. Ifthere 15 only one
person D to the right of A and to the left of E, then a possible order in which they

5 SERQ 5w AB,C.D, E e o8 %080 Bend ooy @ g Sosindt oP0Rer
ST, wosoe” A, Een argidd) Sdosg, C 50005 D oo A DY, FEoS ST

sit 1S

o é(
_ A8 B 353 8o E§ 2o @68 &%) 858 Daf),d wod, OBYE TN w%éﬁ;n b/x/
28§50, G, B . <
() ACEBD 2y ADEBC %% ’5
il S | (4) AEDBC. B S
— R

Hnmm |
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99.  Scvenpersons A, B, C, D, E, F and G stand mamw as givenb

(1) GisbetweenAand E .

(i1)  F and A have one person between them

(iii) Eand C have two persons between them

(iv) D is to the immediate right of F and

- (V) Cand B have three persons between them

The second person from the left is _

A, B, C, D, E, F $6c50 G o3 2dorsd Sgiaen 2.8 S6008°

@ A,Eof H55* G ok '

(i) F Ao 50658 a8 558 ey

(i E, C 0% BocigeSt mPsd SgEen I

(iv) F8 $%mo S8 68,3 D samh | .- X ET=
(v) C,Bo% m%@* Enrd Sgieo Gamso - ) ’e,%-
8% ©%, 08 08" 558 | , . ¢ ON-~

(1) C (2) G @E @ A

100. Consider the following ranks of police personnel in Andhra Pradesh.

(A) Inspector General ' (B) Director General
(C) Superintendent ' (D) Deputy Inspector General
- (E) Deputy Superintendent (F). Constable

(G) Inspector
BOFOBES A & BHS ANS 2 GA'ghe Tgoos BREs.

(A) =23PE6 =SS0 (B) 38§65 =555 ©

(C) %5380B0oBotTY) | (D) &%rgs arngs 2555®
(E), &irgs s50080@0t9) F) s3paes ®

(G) 2356

The correct sequence of the ranks from the highest to the lowest cadre is
SESIETS zaﬂcm Sood @e’s é&z{é oo S8 &od Trgodesd ,06&0“6 g0

(1) A,B,C,D,E,G,F €y B,A,D,C,E,G,F
. (3).:B!A,C,E,D,E,G - - (4 AB,CED,G,F
Oaaga

g oo
A 304

™|
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